If f(x) = |x* — 16}, then the critical number(s) of

f is (are)
(A) x =4
(B) x =0
(C) x =—-4,4

(D) x =—-4,0,4

(E) No critical numbers.

Scanne d with CamScanner



The function f(x) =2+ 2x% —x* isincreasing on
A) (—o0,1)
B) (—1,0) and (1, )
C) (—1,0) only
D) (—oo,—1) and (0,1)
E) (1, )

= = | e
.........



If f(x) = x* + %2 has a point of inflection at
x = —2,then b =

If F(x) = ¢yxsinx + ¢; cosx isan antiderivative of f(x) = xcos x.
Then 3¢y + 503 =




The function f(x) = ~_ has a local maximum at the

x+4
point(s) x =

A) —6 only

B) —8 only

C) —4 only

D) 0 and —8 only
E) 0,—4,—8

Select one:
O A)
® B)

ch

D)

i Y



The absolute maximum of f(x) = 4 sinhx on the
interval [In3,In4]is

A) 2
B) 3

C) 8

16
D) <

15
E) y

Select one:
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If the polynomial g(x) = ax® + 24x* + ax + a
is concave up In the interval (—1, co), then a =

Answer:



Let f(x) = x — 2sinx,0 < x < 2m, then f
A) is decreasing on(0, E) U (g, 21).
B) is increasing on (0, ;—r).
C) is increasing on (?' 27).
D) is increasing on (E,%’E).

E) is increasing on (0, m).



The absolute maximum of f(x) = 4sinh x onthe
interval [In 3,In 4] is

A) 2
B) 3
c) 8

16

D}T

15
E) <

Select one:
O A)
O B)
O c)
O D)
O E)
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Question “

Not yet answered

Marked out of 1

v Flag question

If g(8) =asind—cos(ad), 00,5 | a=%0

k
8
If g(0) has a critical number at @ = g, then k

Answer:



The absolute maximum of f(x) = 4sinhx on the
interval [In3,In 4] s

A) 2
B) 3

C) ®8

16
3

15
2

D}

E)

Select one;
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If f(x) = x? + > has a point of inflection at
x = —2,then b =

Answer.

The local maximum value to the function f(x) = x3e ¥ is
A) 0
B) 27¢3
C) 3€3
D) 273
E) 3e¢7°



The absolute maximum of f(x) = 4 sinh x on the
interval [In3,In4| s

A) 2
B) 3
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'The absolute maximum of f(x) = 4sinhx onthe |
‘interval [In3,In 4] is |

A) 2
B) 3
C) 8
16
D) 3
15
E) Y
EI[E":;UI‘IE':
B)
Cc)



Question "

Not yet answered

Marked out of 1

V Flag question

Let f(x) = x — 2sinx,0 < x < 2m, then f
A) is decreasing un(n,gj U (g, 2m).
B) is increasing on (I],g).

C) is increasing on (53—-" , 27T).

. . 5
D) is increasing on (E'EE)‘

E) is increasing on (0, ).
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| If f (x) = logg (4 + 2x — xz) then the value(s) of c that l |

satisfles the conclusion of Rolle’s theorem on [—1, 3] is(are)
A1
| B) 0
fi C) 0,1
' D) —1,3.
E) 3.

, B N R T T L I R I 13 1 13T 1 I3
i
I

Select one;
A)

O ® O 0O
8 9 .98

Clear my choice




If f(x) = x? + % has a point of inflection at
x = —2,then b =

Answer:

The local maximum value to the function f(x) = x3e™* is
A) 0
B) 27¢e3
C) 3e3
D) 27e3
E) 3e73



—-X
The local maximum value to the function f(x) = x3e * is
A) 0
B) 27¢e3
C) 3e?
D) 27e73
E) 3e73

aelagt one

i A)

Clear my choice



if f(1)==3,f(1)=0,and f"(1) = =2, then the
function / has

A) a local maximum at x = 1.

B) a local minimum at x = 1.

C) a horizontal tangent at x = 1.

D) (B) and (C).

E) (A)and (C).



E‘ ’

satisfies the con

oy clusion of Rolle's theo

T rem on |[—1,3] is{are
C) 0.1. I
D) —1,3.

E) 3.



Let f(x) = x — 2sinx,0 < x < 2w, then f
A) is decreasing on(0, g) U (-g, 21T).

B) is increasing on (0, 131).
. o . [} 57
C) is increasing on (—3—, 21T).

T 51
3’3)'

D) is increasing on (

E) is increasing on (0, ).

elect one:
L) A)



The absolute minimum of the function
f(x) = x*e7* + 4 on the interval [—1,3]is f(x) =
A) 2
B) —1
C) 4
D)3
E) 1



If f(x) is a function defined on the interval
[—2,5]. If 1 is the only critical humber of f(x)
in the interval (-2,5). Using the following
table:

X -2 1 9
f(x)| =7 3 0

The absolute maximum value of f(x) is:

A) 1
B) 3
C)5
D) 7
E) f(x) has no absolute maximum value



